EARAROBEEIERT — 2 N— IBISH —F

2019FE5B1H (k) SEIEHEIR

LN 3 24 U TR 3

‘ (%] 8 ‘ (EmmEl  — | 4 (5) 14000 RE

[A&E£] 1 % :340,000  ~ 23&:95,000 3  3#&:54,000 W  43&:34,0008 5 3&:20,000 H

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S 5 FLEFRER :31. 02— . — ABED (BEE)
1171873 S EXEI 4 3 s 1(3_1)1 2-2-2-1 | 38.7 1 f74) e
R:vaAMX/SIVEIR B:va MY 3T7MI— HO g8k
o AN AIE— :32. -3-3- . — ERME (BHE)
ol 6|7 v/INLEAT %8 s e AR " (4+119) KA (B)
RNAT——L B:yIZRry b KK
# 3 | SHEX 1:32.7 9-9-4-3 [39.7| — | 6 | 434 |AEEH (EEE)
3|8l10| L7 AL —F 54.0 (11/2) Loy | 8 FaF
R:beHIO—U— B:FUFSALHA b INEF4iS
SILA— S 4 3 | DOEEEE— 1:33.0 10-10-11-9 | 39.1 | — 7 04 |BTE—A (BEE)
415|565 AREFRIN=Z 56.0 (1 1/2) (1) | EEEE
A= 214 B:RARxIXxT7 -T2 EvilLy RIT7—L
S SN 43 | RS 1:33.3 8-8-7-8 |40.0| — 2 446 | AEED (BHE)
5 3|77y oL dr> 56.0 (1 1/2) (1) | EERIX
RNRVTSY BTITIA ME IE
2 4t 3 | FRBME 1:33.3 5-5-5-7 | 40.2| — 3 418 | AEED (BHE)
6 7/3b/7 U‘ 54.0 (7€) -3 |MA=%#
L:¥r/0704 B:T7RII4YS54 b FRAEARN S
5 o . 4 3 | HLaME :33.3 11-11-9-6 |39.9 | — 8 45 | ROFEE (BEHE)
78|11 XA RINITSF 56.0 NF) L3 | (B)_J PN
R:A-J X424 B:v143EC ML EvJLy RT7—L4
o FERTEAE : —7-7- — AMREtL (BHE)
alzlg|NvE—Tz12 4 3 B 1.(323).7 7-7-7-5 | 40.4 4 zzgg) Do
LYY ARG FS5X B:7O> R TR thAk Bt
; . B3 | KIS 1:34.5 6-6-10-10 | 41.0 | — 10 | 386 |SEEZ (BHE)
9011 A4t a7F 54.0 (4) (-2) IREE R
LELFAVY BFAI-FvL pNCTie ]
. N 4 3 | 1R 1:34.6 3-4-5-11 |41.5| — 9 426 | BEAC (BHE)
1ol 2| v bAZYT 54.0 (172 4o | REEET
R:29)—>e—A0— B:T773I)F7-0)>F YA FH5
> — = 43 | BHRA 1:35.1 1-1-1-4 | 42.7| — 5 453 | BRBER (BHE)
11N 4| FH—F 56.0 2 1/2) o |mExs
LIA2T7Fy2a BNLETIYaY PV N AN
® I —F—@EBIERL
13—F— 4,8,2,6,7,1,9,3,10,5,11
2= = 4,8,6,2,7,1,9,3,10,5, 11
Jol=5r= 4,8,6,10,(2,7),(3,9),11,1,5
43—F— 8,6,10,4,9,11,7,3,5,1,2
[ N3
B OB 8 140 714K 6-8 2,010 % E 6-7 390M 3EHE 6-8-10 7,850
8 B 8 150 8-10 300 B & 6-8 3,760 K31 8-6-10 29,760
6 840H 6-10 6,520 B H 8-6 5,240
10 270M

ABICOVWTRDTEEERROODE. TR LIV,




